
Cross table for WDCL Division 2

Team Atherton
B

Culcheth
C

Northwich
B

Ormskirk
A

Ormskirk
B

Skelmersdale
A

St
Helens
B

Winwick
B

Atherton B 3½ - 1½ 4½ - ½ 5 - 0 4 - 1 2 - 3 3 - 2 3½ - 1½
Culcheth C 2 - 3 1½ - 3½ 1½ - 3½ 4½ - ½ 2 - 3 ½ - 4½ 0 - 5
Northwich B 5 - 0 4 - 1 2½ - 2½ 1 - 4 4 - 1 0 - 5 2½ - 2½
Ormskirk A 5 - 0 3 - 2 4½ - ½ 4 - 1 2½ - 2½ 2 - 3 2½ - 2½
Ormskirk B 3½ - 1½ 3 - 2 3½ - 1½ 1 - 4 2 - 3 2 - 3 2 - 3
Skelmersdale
A 5 - 0 3 - 2 4½ - ½ 2½ - 2½ 3½ - 1½ 2½ -

2½ 3 - 2

St Helens B 3 - 2 3½ - 1½ 1½ - 3½ 4 - 1 4 - 1 2 - 3 3 - 2
Winwick B 3 - 2 1½ - 3½ 3½ - 1½ 1 - 4 3 - 2 2 - 3 ½ - 4½


